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Part A
Answer all questions

Each question carries 1 mark.

Who is Montesquieu?
Mention any two features of Social Science.
What is General Science?

Define values.
State any two categories of objectives in teaching Social Science at secondary level.

List any two teaching strategies that can be applied at higher secondary level.
State the lowest objective under cognitive domain.
What is psycho-motor domain?

What do you mean by learning experience?
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Write any two criterion for selecting learning experience.
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Part B
Answer any five questions in about half a page

Each question carries 2 marks.

11. Name any two works of Comte.

12. Distinguish between Social Science and Social Studies.

13. State the pedagogical relationship between Geography and Economics.
14. Give a brief description about values of teaching Social Science.

15. Differentiate the terms aims and objectives ‘

16. What is meant by affective domain of learning?
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Part C

Answer any five questions in about one or two pages

Each question carries 4 marks.

17. What are the major contribution of Karl Marx to the development of social sciences.

18. Social Science is the scientific study about society.Explain.
19 What is the relationship between Language and Social Science?

20 Evaluate the relationship between Social Science and ICT and Arts with exarﬁples.

21 List out the activities you would suggest for developing desirable attitudes
22. Discuss the relevance of Bloom's Taxonomy
23. Prepare a note on competency based instruction.
(5%4 = 20
Part D
Answer any one question in about three or four pages.

Each question carries 10 marks.

24 Write in detail the major branches of Social Science.

25 Describe the relatioship between Social Science and Mathematics.
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